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]/dY =AE* LABJIND dY=Aq[1+A,/A;Y]

2.0 Ttor achromatic colours X dYy Y
in WN-direction -1.0 0.027 1.8
15 -05 0.0395.6
0.0 0.07718.0
05 0.19656.9
10 —eee 10 0.575180
AolA;=0.1417
A;=0.0216 A =0.003

Richter_D_PO2_009A
(xy,Y}=(0,33, 0,36, 18)

e
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y



[ VdY=AE* agyjnp  @YFAulAZAM

20 Tfor achromatic colours X dY, Y

in WN-direction -1.0 0.0251.8
15 -0.5 0.0385.6
0.0 0.08 18.0
05 0.21256.9
) s 1.0 0.629 180
A,lA;=0.1716
A, =0.0197 A =0.003

Richter_D_PO4_027S

]
1
1
1 A3=0922 A=1811
1
! (x,y,Y)=(0,33, 0,36, 18)

e
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




[

]/dY =AE* LABJIND dY=Aq[1+A,/A;Y]

2.0 Ttor achromatic colours X dYy Y
in WN-direction -1.0 0.0291.8

15 -0.5 0.0385.6
0.0 0.06518.0

05 015 56.9

10 —_— 10 0419180
AolA; = 0.0852
A, =0.0256 A = 0.002
A3=0414 A=0734

1 Ag = 0.2799 Richter_D_PO5_2582
|_ (x.y,Y}=(0,33, 0,36, 18)

-05 00 05 1,0 X=loglY/Yyd

36 18 90 180 Y



